: 10
3

: 1.
s 12,

. arches dresses hobbies
. mints armies engines
| babies caves couches

. clams glasses arrows

enemies mistakes

props supplies |
ranches mosses &
patches parents |

Write the spelling words with the matching plural spelling patterns.

© N o o kDb 2 oag

13.
14.
15.

16.

17.

18.
19.
20.
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Name
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P, 01

_rracrice st

DivIDING WITH REMAINDERS

Find the guotient and remainder.

1.

11.

16.

21,
24,
2.
an.
33.

1 R1

3l4
=3

1

7116
5)26

722

25 + 4
29 + 4
41 + 7
61 + 8 =
What is 19 divided by 2? _____

Solve.

85, Deirdre is putting 29 avocados into

2. 7)8
7. 8J19
12. 6)20

1. 3]23

-—

3 508

g8 7)15

13, 3J19

18. 9) 14

22, 62 +
25 17 +
28, 38 +
3, 49 =+

o O W WD
;

cartons, She puts 8 avocados in
gach carton, How many cartons
does she fill? How many avocados
will be left over?

millan/McGraw-Hiil, MATHEMATICS N ACTION
gmn 4, Chapter 7, Lesson 1, pages 268-259

———

—_—n

4. 2)7

9, 3)14

14. 4118

19. 7)31

23. 83
26. 23
29, 29

e

e ———e

RS

4. What is 27 divided by 77

32, 69

-

—
[y
Q

<

A B ©
Il

~

0.

—
=

36. Katie has 41 oranges. If 8 children

each get the same number of
oranges, how many oranges will

be left over?

Practice-64
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¢ A linking verb connects the subject to a noun or adjective in the
predicate.

* Linking verbs are usually forms of be, but can be other verbs.

 Alinking verb must agree in number with the subject of the sentence.

Circle the correct linking verb in parentheses to complete the sentence.
Then rewrite the sentence on the line.

1.

This meat (is / are) not good anymore.

Some of my toys (was / were) in the yard sale.

The bed (feels / smells) nice and soft.

My hair (was / were) longer last year.

Your backpack (are / seems) newer than mine.

| (am / are) happy to see you!
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Name

§01 374 4912 P, 04

DivIDING 3-DIGIT NUMBERS

Divide.
136 K3

1. 5)683 2. 6)704 3. 3] 695 4, 4)889 5. 7)863
—5

[

- 183
=15
33
=30
3

6. ‘55726 7. 8)926 8. 45559 9, 2)528 10. 4)541

6.847 +2=____11. 544 +3
9. 6290 + 2 =_ 20947 + 7
99 858 + 5 =______  23.932 +8
Solve.

95, Becky has 536 geraniums to be
planted. She puts 4 plants into
each pot. How many pots can she
fill?

Practice-69

" 11, 5]706 12. 3}e58 18, 2}743 14. 6)672 15. 5)921

- 18.63B+8=____
= _21.866 + 4 =
= 24, 809 + 3 =

96. There are 630 sunflower seeds,
There are 5 seeds in each pot.
How many pots have sunflower
seeds?

Macmilian/MeGraw-Hili, MATHEMATICS IN ACTION
Grade 4, Chapter 7, Lesson 7, pages 270-271



